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1. Before you start to answer the questions you must check this booklet
and ensure that it contains all the pages (24) and see that no page or
portion thereof is missing or repeated. If you find any defect in this
Booklet, you must get it replaced immediately.

2. OMR Answer-Sheet is within the Question Booklet. Please
ensure OMR Answer-Sheet number and Test Booklet No. of
Question Paper are same. Read the instructions printed on
OMR Answer-Sheet carefully before filling the information
on the OMR Answer-Sheet. You must complete and code all
the details on the OMR answer sheet correctly, failing which
your answer sheet may not be evaluated. You must also put
your signature on the OMR Answer-Sheet at the prescribed
place before you start answering the questions. These
instructions must be fully complied with, failing which, your
OMR Answer-Sheet may not be evaluated.

3. This booklet consists of 100 Multiple Choice Questions and are printed
in Hindi and English language. Each question has 4 (four) alternatives
(A), (B), (C) and (D). In case if you find more than one correct
answer, then choose the most appropriate single option and darken
the appropriate circle in the answer sheet against the related question.

4. Foreach correct answer One mark will be given and no negative
marking for incorrect answer.

5. Use Black/Blue ball point Pen to darken the circle. Answer once
darkened is not allowed to be erased or altered. Against any question
if more than one circle is darkened, machine will allot zero mark for
that question.

6. Do notfold answer sheetin any case.

7. No rough work should be done on the Answer-Sheet. Space for
rough work has been provided in this booklet.

8. Mobile phones and wireless communication devices are completely
banned in the examination hallrooms. Candidates are advised not
to keep mobile phones/any other wireless communication devices
with them even in switched off mode, in their own interest. Failing to
comply with this provision will be considered as using unfair means in
the examination and action will be taken against them including
cancellation of their candidature.

9. Candidate should not leave the examination halllroom
without handing over his/her Answer-Sheet to the invigilator
and without signing on the attendance sheet at proper place
against your roll number. Further candidate should also
ensure that booklet no., booklet series and OMR Answer-
Sheet No. are correctly written on attendance sheet before
signing on it, failing in doing so, may lead to disqualification/

no evaluation of OMR Answer-Sheet will be done.
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gam fafy ok Ima Y el w3 & forn Fuforiad & ¥ ford thawm o1 SuanT far srar g 2

(A) Date() (B) Today() (C)  Now() (D) Time()
Which of the following function is used to display current date and time?
(A) Date() (B) Today() (C) Now() (D) Time()

Tl ®, FofaRad & 3 fed 5= fovan S aabdr 82

(A) TS e (B) ¥t forere

(C) (A) 3R (B) T (D) SWIe H Y BT Tl

In presentations, which of the following can be inserted?

(A) Sound Clips (B) Movie Clips

(C) Both (A) & (B) (D) None of the above

qUleATS BT el B B gl

(A) FFHES UHC Sy (B) 3IcxMUfSUC UHe By

(C) YMBES U ErbY (D) gFwEs YU Sty

The correct full form for UPI is

(A)  Unified Payment Interface (B) Intermediate Payment Interface
(C) Unified Pay Interface (D) Unified Peoples Interface
W3S CifoTe o 87

(A) T (B) SR TEH

(C) A= (D) wES = faggerd sthae
What is slide transition?

(A) Letters (B) Overheads

(C) Animations (D) Visual effect in slide show
forst SiTfth 1 feWice Ut SHIRUCRH F1 82

(A) ey (B) e ) w (D) T
What is default page orientation of LibreOffice?

(A) Landscape (B) Portrait (C) A4 (D) A3
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6. FofaRed # 3 o a1 Ui feasy el 87

(A) f&forerger (B) HIHH (C) wiaRe® (D) <mEcUd
Which among the following is not a pointing device?
(A) Digitizer (B) Mouse (C) Joystick (D) Light pen
7. SHAFIeRig
(A) SadCiH® o4 (B) Sdag! HAfed Ad
(C) SAHRIMD Ad (D) S Od
E-mail stands for
(A) Electronic man (B) Electromagnetic malil
(C) Electronic mail (D) Engine Mail
8. iz i TRIRA T'=' & TR I & gl g 39 AT S8
(A) HRHE (B) ThIdar (C) U (D) T
Any expression that begins with an equals ‘=’ is treated as
(A)  Function (B) Formula (C) Graph (D) Chart
9.  Y3IRUW BT e B g
(A)  Topd Rt arm (B) IMHwid RN daher
(C) Tpd REN craet (D) gAHH R dras
The full form of URL is
(A) Useful Resource Logo (B) Uniform Resource Locator
(C) Useful Resource Language (D)  Uniform Resource Language
10. IS VIR Wsg BT MADBR SR fobam am T
(A)  SHEETTH (B) Tl (C) ¥ (D) HThIATHE
The term word processing was invented by
(A) I1BM (B) HP (C) Intel (D) Microsoft
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11, DI A1 3-HHH DI YR Tl g ?

(A)  Tao9 ¢ foey (stodl) (B) oo g HemR (dl2d)
(C) 3IeWhI-BIHH (D) TH-BIHH

Which is not type of e-commerce?

(A) Business to Business (B2B) (B) Business to Customer (B2C)
(C) Alpha-commerce (D) M-commerce

12.  UolexA & WSS & ol deed sfii Ic o3 & ot {5y Aeea o1 ST fovdn o o g2

(A) wEsTRMw (B) wWrsTRR (0 Reda (D) W3S 2 He3™

Which option can be used to set custom timings for slides in a presentation?

(A) Slide Timings  (B) Slide Timer (C) Rehearsal (D) Slide show setup
13. 3RASR @131 3 -

(A)  3MICUES PHaeR e (B) 3iDHA dhdex Tev

(C) TR PhgeR T (D)  3fFelt P s

The acronym OCR stands for :

(A) Outsized Character Reader (B) Optical Character Reader

(C) Operational Character Reader (D) Only Character Reader

14. 1 Uerarse (dish AURY foram imarse Shell) & SRR gkt 32
(A) 1024 Siidt (B) 1048576Sflel  (C) 524288SH&l (D) 4194304 Sitel!

1 Petabytes (PB) of memory is equal to how many Gigabytes (GB) ?
(A) 1024 GB (B) 1048576 GB (C) 524288 GB (D) 4194304 GB

15. T USieTH ol difsdl a1 diSiut & dea-T 4 §7?

(A) B/l (B) gl (C) TIG (D) gT gl o Hebdll
Is it possible to convert presentation into a video or pdf?
(A)  Yes (B) No (C) May be (D) Can't say
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16. HfaRad & § 1 MuH A &1 T gfed Ufd Ue FHRal 82

(A)  3M3earsd (B) Wi ey
(C) SHTSTH gseHey (D) fiie if=rE
Which of the following provides a printed copy of your presentation?
(A) Outline (B) Speaker notes
(C) Audience handouts (D)  Print option
17. http://www.google.com WB&IEQUI%I
(A) WICIDld (B) URN IS (C) Y3IRTA (D) S84
http://www.google.com is an example of
(A) Protocol (B) Access Code (C) URL (D) EMAIL

18. HR WiSic H, TsHIege I YHY & 39 UHR ST off Ihdl g :

(A) A3 (B) $A$3 (C) AS$3 (D) $A3
In a computer spreadsheet, absolute cell reference can be represented as :
(A) A3 (B) $A$3 (C) A$3 (D) $A3

19. BHIM &1 7 3%f g2

(A) HRT IRBT BR J4T (B) MR Sy Bk AR

(C) HRd e3+c BIR HAl (D) HRA Sy ¢ |-

What does BHIM stands for?

(A) Bharat Interface for Money (B) Bharat Interface for Machine
(C) Bharat Internet for Money (D) Bharat Interface to Money

20. ol fowg & URgd o= iR URgfa & oW & I a1 & forg ITanT &t S aTel! Wiss &l
RIS
(A) TS (B) TGS ~ (C) CRCATES (D) UK WES

The slide that is used to introduce a topic and set the tone for the presentation is called
(A) Bullet slide (B) Table Slide (C) Title Slide (D) Graph Slide
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21.

22.

23.

24.

25.

CO, TIZU A & ot fod fasbey o1 IuanT fovan ST A1fgT aifds 2 b1 I8 Ifad R_IM W
T bt S Hah?

A 4R (B) 3fSTelmSA (C) Hakpy (D) gWEpy
Which option should be used to type CO, to get 2 at its proper place?
(A) Bold (B) Underline (C) Subscript (D)  Superscript

TSS & Yafd Yobd ST & fore fhy faey o1 U fovan Sidn g2

(A) HIC AR (B) USIcRM ARCR

(C) WS AR (D) feeHRR

Which option is used to insert the related hints of a slide?

(A) Note Master (B) Presentation Master
(C) Slide Master (D) Hint Master

I T3 TGS QR ol 87

(A) STF B H MIH (B) T = AT g1
(C) T IR P fow 3 (D) TURHPS UNas
Why is one time password safe?

(A) Easy to generate (B) Not sharable

(C) Different for every access (D) Encrypted password

fafafed & 9 oF wWze W # WIZs &I 3 T8 dgam?

(A) Esckey (B) WIER (C) Enter key (D) HSHIdcH
Which of the following will not advance the slides in a slide show view?

(A) Esckey (B) Spacebar (C) Enter key (D) Mouse button
&Y U T (WLAN) &1 31 §

(A) dERCY Aidhd TRAT Hedd
(B) TS AIdhd URAT Hedd

(C) TRRCY Aidhd TWIge! Aeadh
(D) dIFS dice TRl Aeddh

WLAN stands for :

(A) Wireless Local Area Network
B) Wired Local Area Network

(B)
(C) Wireless Local Ambiguity Network
(D) Wired Latent Area Network
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26.

27.

28.

29.

30.

31.

HE® &1 Had B T | 2

(A) Ticad SiHgHc BIRd (B) TICHd STl HRAT

(C) UISd SiHgHc BRIEC (D) UIRIgd STe1 wIgd

What is full form of PDF?

(A) Portable Document File (B) Portable Data Format

(C) Portable Document Format (D) Partial Data File

Ufged I M10 1 3R 310 Uex &1 gaTd §, Y 3 W Ugd S|
(A) N10 (B) M11 (C) M9 (D) M12
The active cell is M10. If you press the enter key, then you will reach at :

(A) N10 (B) M11 (C) M9 (D) M12
_ fod it dre I BT TRICRE B |

(A) .ods (B) .xlIs (C) .odx (D) .txt
Extension of LibreOffice Calc file is .

(A) .ods (B) .xlIs (C) .odx (D) .txt

S TG dic S TR IReo0 SR §, dl IR0 IR 39 URacH! & T DI o+ & g
31g ARy 7t &t deaint| 39 o1 Jedl &1 S, 3% forg Wsg 1 82

(A)  hiSaRTT deget (B) Fefee deqe

(C) dTe 3% degW (D) TSR degsl

When you conduct a what-if analysis, you will change specific values to see the impact of
these changes on the results. What is the term for the values you will change?

(A) Prediction Values (B) Result Values

(C) What if Values (D)  Assumption Values

BIR dTd 1 TP UBR §

(A) ORRY (B) UT C) Ryt (D) oH
Firewall is type of

(A)  Virus (B) threat (C) Security (D) Worm
TSl BT 1M DI UGIRId Bicll 82

(A) <I3Cd dR (B) CTR&HAR (C) WeHdR (D) THIATR
Where is the file name displayed?

(A) Title bar (B) Taskbar (C) Status bar (D)  Scroll bar
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32.

33.

34.

35.

AEIEd B &I gHIfad o1 & ol TouHey, sgy, dRReY W1, Juae! 3R
SRS O Aead 3R Uil & Arerd A w=id gidr 2
(A) dr (B) Ut arRy
(C) HIAdTR (D) ARSI B

gets propagated through networks and technologies like SMS, Bluetooth,

wireless medium, USBs and infrared to affect mobile phones.

(A) Worms (B) Antivirus

(C) Malware (D) Multimedia Files

gS3MT3C AR o oI Bl al & o gy fd &

A) e AR (B) TlRcd (C) TR (D) &S
The handout master contains placeholders for all of the following except

(A) Slide number (B) Title (C) Footer (D) Header
IR Ufge HA P 3 a1 B

(A) TS IR (B) 3HW g

(C) SR (D) TS URRR

A is an application that allows the user to compose, format and edit simple
documents.

(A) Word Processing (B) Email Utility

(C) Browser (D) Word processor

fEuie s et &1 T TUe & o &1, Bl 3R 3ty yura e 21

(A) Sl (B) 4 (C) <§d (D) TASS
A is a collection of design choices that include color, font and special effects.
(A) Data (B) Theme (C) Table (D) Slide
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36.

37.

38.

39.

40.

JHT Y St Aar3ff BT Ay ISH H A HRdl g

(A)  SMIH HRAT (B) 3R 3R YU §=HT
) T ffeieR g & (D) IWRIad Gaft

UMANG app helps to avail the services such as :

(A)  Filling income tax (B) Making Aadhaar and PF
(C) Booking a gas cylinder (D)  All of the above

SIRIHE DI 300% AP fH B W foba ®hid IR fears ¢i?

(A) 1 B) 2 (C) 3 (D) 4
How many scroll bars will appear when zooming the document to 300%?

(A) 1 B) 2 (C) 3 (D) 4
®e, HIUT 3R U fadwed T T IuA ¢ |

(A) IR (B) Use (C) WRHC D) A
Cut, copy and paste options are available in menu.

(A) File (B) Edit (C) Format (D) View

FHHS T HRCIT BT U g fHaT 41 HH g Sl 918 § IuAT & fad R faar

SIS

(A) Hol (B) 3ffera=H (C) SMEScRH (D) AT HS

A is a saved sequence of commands or keystrokes that are stored for later use.
(A) Macro (B) Automation (C) Indentation (D) Mail merge
JeR UoH1gdT & forg, I8 a8k 8 fob gaie uise &l

(A) T

(B) TRC BT

(C) BIC AT AT 3Hifb qTg

(D) T MR

For a better readability, it is preferable that bullet points are:
(A) Long sentences

(B) page of text
(C) Short phrases or partial sentences
(D) Complete paragraphs
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41. SUANTEHA! Bl SHA & 1Y HISd W BI SFIAM ST 8|

) 3w (B) HER (€ W< (D) SieTHcH
allows user to send a file with email.

(A)  Draft (B) Messenger (C) Sent (D) Attachments
42. TS MM ¢ § Sl 3D Seat I Th YoleH §91 H Aeg HRal ¢l

(A) THC (B) i UoiexH

(C) s TE TR (D) 3ifel dHee faems

The is a handy tool that allows you to create a presentation quickly.

(A) Template (B) Blank Presentation

(C) Standard Test bar (D) Auto content wizard

43, fore 3y Wger H U9 3NRUeRH fd UBR &1 8Id1 82

(A) dige (B) WeswHU

(C) wEs (D) UIce 3R dewpy Gl
Which is the type of page orientation in LibreOffice writer?

(A) Portrait (B) Landscape

(C) Slide (D) Both Portrait and Landscape

44, FofafEd § Q&9 T 3T 99 SiRfeT Reg 98 @ 2

(A) I B) fas (©) g« (D) foriea
Which among the following is NOT an open-source operating system?
(A)  Ubuntu (B) Windows (C) Drupal (D)  Linux
45. forsl 3iffth AgeR H CHele & T U thisel TRIc e g
(A)  .odt (B) .oft (C) .txt (D)  .pdf
is a file extension for template in LibreOffice Writer.
(A) .odt (B) .oft (C) .ixt (D) .pdf
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46.

47.

48.

49.

50.

fafifed & ¥ &F O SUHRU ITANTwdl B Tae-d Slaghc &I Uiy s iR 39
gdgeMe T H HeR § A A BI 3FA a1 82
A fix (B) WNR (C) daRe® (D) WK

Which of the following devices allows a user to copy an external document and save it in

electronic form onto a computer ?
(A)  Printer (B) Scanner (C) Joystick (D) Spammer

fafafea o § oF offRfen e o1 R gt g 2

(A) $Yc/ 3M3CYC dheld UiTH (B) Sild dheid TR
(C) WRWBIHY Hifex (D) YURAZR
Which of the following is NOT a part of the operating system?

(A) Input/output control Program (B) Job control programs

(C) Performance Monitor (D) Supervisor

FA3S ST | FAT3S & 37 gl

(A) TR (B) BIE-grd (C) diud (D) ¥exe
Cloud in cloud computing means .

(A) Wireless (B) Hard-Drive (C) People (D) Internet
UoleRH § RS B U A o [ SUINT fohT I arel TURTe Sthaed Bl &gl
ST 82

(A) ShacH (B) HH THR

(C) giof=rg (D)  Wsle TR

Special effects used to introduce slides in a presentation are called ?
(A) Effects (B) Custom animations

(C) Transitions (D) Present animations

fors 3fifthy & e Siie o1 fawey fbg A7 &7

(A) BRAC (B) W © A (D) WA
In which menu is the option to add comments in LibreOffice?
(A) Format (B) Insert (C) View (D) Style
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51. T s Sifhy ¢ € off 89 ST Wi &1 IUANT b Uh & Siaghc § o5
SiagHc M &1 3l SaT 8|
(A) TsHie (B) T TIY (C) AT (D) Wl
is a LibreOffice tool that allow us to produce multiple documents from a single

document using a data source.

(A) Spreadsheet (B) Mail compress (C) Mail merge (D) Macro

52, Foffad @ oH R oifthg § RdeR &1 Sua Tt & 2

() R (B) 3MdfeH=H
(C) XYL (D) fesfaferdt
Which of the following is NOT the use of signature in LibreOffice ?
(A) Integrity (B) Authentication
(C) Non-Repudiation (D) Readability
53. U UIUTH Sl deIscl & o & fog T fovdm ol § 99 g Il 872
(A) SR (B) 9T GR (C) uisHie (D) @R
A program that is used to view websites is called ?
(A) Browser (B) Web Viewer (C) Spreadsheet (D)  Writer

54, FOfaRad ® ¥ $H tE AR YIaH 718 g7

(A)  HI 3 fEfiadt (B) & fIBR fEeliad
(c) feuie g (D) TASUHA
Which of the following is an online payment mode?
(A) Cash on Delivery (B) Cash before Delivery
(C) Demand Draft (D) NEFT
55. Wskiie STl & =Y | ¢4 o gohdl 5
(A) TR (B) dTCH (C) dTE qIuwH (D) STl
Spreadsheet data can be viewed in the forms of :
(A) Graphs (B) Charts (C) Charts or Graphs (D) Data
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56. WRC fars 3iifhy ASeR Sihghc & 9 g fowan o Tava 5|
(A)  xml (B) doc (C) docx (D) mp3
Format can’t be saved in LibreOffice Writer document.

(A)  xml (B) doc (C) docx (D) mp3

57. PO A A oH 9 Sl SieamR I8 2

(A) HISPIEIT TR (B) 3NUA 3Hifthd e

€) fus siftha Few (D) fors Siffter S

Which of the following is not a spreadsheet software ?

(A)  Microsoft Excel (B) OpenOffice Calc

(C) LibreOffice Calc (D) LibreOffice Draw
58. Ud C2:C7 B H I A 5

(A) 4 B) 5 (C) 6 (D) 7

Range of cell C2:C7 includes cells.

(A) 4 (B) 5 (C) 6 (D) 7
59. TQH Ud gl

(A) 3R 9 deR

(B) TEHUT YRR

(C) HSIgd G T PR arall UG
(D) S Afedhe &1 gR ASaT g

A flame is a/an
A) Online Chain Letter
C
D

(A)

(B) Expert Programmer

(C) Message expressing strong opinion
(D)

Who breaks rule of netiquette
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60. T Uel =M BT IUIANT HRdl gU Bl 3 10 & 1Y Hislal SIHIHC DI Id HAT

(A) IdHH SlagHic B UfawTid o3al §
(B) U SlagHc P! SRHIR Wl §
C) Wya TS

(

D) ddHH STRIHC Bl & PR el &

Saving an existing document with some other name using the Save As option
(A) Replaces current Document

(B) Leaves current document intact
(C) Is not possible
(D) Close current document

61. o9 3T fohll Hislel USicRM ¥ 1SS Site-T dled ¢ o (9 H ¥ fordest SuainT fasar o =nfgu?
(A) HIEd, 791 WIES S (B) ITNIC, RS
(C) IS, 3MIU (D) IR,

Which of the following should be used when you want to add a slide to an existing

presentation ?
(A) File, add a new slide (B) Insert, new slide
(C) File, Open (D) File, new

62. S&YT®YS&Y HI UG FABM § :

(A) o9 IeS IES (B) dcS S AW

(C) dI3S 99 acs (D) dISS IS A9
The correct full form of WWW is :

(A)  Web World Wide (B) World Wide Web
(C) Wide Web world (D) Wide Wired Web

63. 9 H A B IT MU= I JTocdTR BT I<TBI0T 872

(A) S3Id BRIy (B) WRHNIT a5
(C) oEsR 3Hifthy (D) HIY

Which of the following is an example of open-source software?
(A) Adobe Photoshop (B) Microsoft Word
(C) Libre Office (D) Skype
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64.

65.

66.

67.

68.

FSAW TS F =G H ST ST B

(A) BB TH (B) oW TP

(C) +cah UsH (D) TsH Rellcg=HE Uleidld
Hardware Address is known as .

(A)  MAC Address (B) IP Address

(C) Network Interface Address (D) Address Resolution Protocol

fRoferad # 9 I 39 STSoR BT 38R0 82

(A) TR (B) dTHTITd (c) fom (D) THESH M
Which of the following is the example of web browser?
(A) Airtel (B) BSNL (C) Jio (D) DuckDuckGo

Ife M =18d & fF Ut Al Ul Wise R JHF UG & 8, O Waiferd U 4 39

H 3¢ P
(A)  TSIM3e R (B) ¢ AR
(C) XIRS HRKX (D) TIScd WgS

If you want your logo in the same position on every slide, automatically then insert it in

(A) Handout master (B) Note master
(C) Slide master (D) Title slide

Wes # e W Aft quTal &1 a6 & o fopg A 1 STanT e i 87

(A) THERH (B) fewirsA (C) cion=iy (D) TS W
Which menu is used to apply various effects to the text in a slide?

(A)  Animation (B) Design (C) Transitions (D) Slide Show
OIS BT 18 U 3 Th gId g

(A) Id (B) % C) ™ (D) WM

A preprogrammed formula is basically a .
(A) Cell (B) Graph (C) Range (D)  Function
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69. forgl 3iTfthy 35X & A9 B & forw fehiee AibA oI At g2

(A) S®pelT (B) SldgHc (C) SIEaieH (D) TAgEd
Which is the default location to save in LibreOffice Writer?
(A) Desktop (B) Document (C) Downloads (D) OneDrive

70. fofifad & Qo a1 a1d ool ¥Hha P MepR &5 & w0 § 7 fagrdr g2

(A) IR (B) WPHeR AT (C) Sligddre (D) TR a

Which of the following chart shows values as circular sectors of the total circle?

(A) Barchart (B) Circularchart  (C) Oval chart (D) Pie chart
71. Sisefie ¥ 31&RI &1y ! & & fore faanr ST |

(A) HiaH (B) «l®d C) (D) I

In spreadsheet, letters are used to represent
(A) Columns (B) Block (C) Rows (D) Cells

72. U H Y P IR Ulde URIHRA BT BIsd TRICTH g2

(A) .ppt (B) .ipg (C)  .html (D) .docx
Which of the following is the file extension of the PowerPoint application?
(A) .ppt (B) .jpg (C) .html (D) .docx

73. oI 3iffhg oo & 9 & T DI 1 ThaR= 3Md Pt TTUHT HRAT G ?

(A)  AVG() (B) AVERAGE() (C) AVR() (D) MEAN()
Which of the following function calculate average in LibreOffice Calc?
(A)  AVG() (B) AVERAGE() (C) AVR() (D) MEAN()

74, fofefEd d @ 19 91 strgic dae & W Yy foars 3ar 2

(A) THUSS (B) dicHID (C) Theds (D) SHA
Which of the following documents appears blurred behind the text?
(A) Background (B) Watermark (C) Frontland (D) Image
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75. gOISME TR U OoM & g 9 & @ SF A1 dieT SXaaTd [T o 9l 872

(A)  HEEd TR (B) didig

(C) d% 3PRIe AR (D) SR FR

Which of the following methods can be used to send money over UPI?
(A)  Mobile Number (B) VPA

(C) Bank Account Number (D) Aadhar number

76. TgfeiRad & I fHaeT ST AT Wekhid & ®U H 8! far \rar g2

(A) fice (B) WINR (C) TIRUUS (D) dsUd
Which of the following is not used as blogging platform?
(A) Pinterest (B) Blogger (C) TypePad (D) WordPress

77. fore oiffthd Wger Siagrc # fSWiee Ao F1 82

(A) 0.5 (B) 0.2 (C) 10 (D) 1
What is default margin in LibreOffice writer document?
(A) 0.5 (B) 0.2 (C) 10 (D) 1

78. Fgfafad o @ o9 T Sfamar &1 Sy T8 82

(A) e U Yol (B) Tcarcy
(C) TUTNLSITSR (D) SrdTrTy
Which of the following is not an application of artificial intelligence?
(A) Face Recognition System (B) Chatbots
(C) LIDAR (D) DBMS
79. BT STANT 3T 31t R GRT fowan BT 5
(A) dcdrze (B) hed

() Mz smzSfefhapre e ians (D) ssss
is being used by internet of things.
(A) Satellite (B) Cables
(C) Radio Identification Technology (D) Broadband
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80.

81.

82.

83.

84.

fufafed 3 3 feas i tere a1 wu @ fasid fvar g2

(A) ieEd fsaed () WR (C) Swpel (D) e

For which of the following Android is mainly developed?

(A) Mobile Devices (B) Servers (C) Desktops (D) Laptops
ga3c BT O DI g2

(A) I 999 (B) fdcah

() sSFufw (D) WA FR

Who is the father of internet?

(A) Chares Babbage (B) Vint Cerf

(C) Denis Riche (D) Martin Cooper

YB3 | T HT0H U I FIAATC [T S a1l 96 URIRAT WitediR ol
(A) TS W (B) TS ¥R (C) IR (D) WEHNIGE I
In the beginning was the most widely used word processing software.

(A) Word Start (B) WordStar (C)  Writer (D)  Microsoft Word

9 o A P ISP T 3B 872

(A) P (B) WM
(C) 3 TR (D) TR
Which of the following is the example of ISP?

(A) Chrome (B) Firefox
(C) Internet Explorer (D) Airtel

e 3y frdt STagie o) I A1 918d § 3R 3119 37 § 6 A 3 T siR ufge A e <t
3{TUh! fohHehT JUTNT BT =MLY ?

(A) ODT (B) DOCX (C) PDF (D) DOC

If you want to share a document and you want people to just see it and not edit it then who
should you use ?

(A) ODT (B) DOCX (C) PDF (D) DOC
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85.

86.

87.

88.

89.

g A B9 19 39 82

(A) 7T BIH (B) ¥eTT THEIR
(C) I (D) HITTeT TERWI
Which of the following is the search engine?

(A) Google Chrome (B) Internet Explorer
(C) Google (D) Mozilla Firefox

fafad & @ P I Tge ST IS0 T8l 82

(A) Twitter (B) Amazon (C) Instagram (D) LinkedlIn
Which of the following is NOT an example of ‘Social site’?

(A)  Twitter (B) Amazon (C) Instagram (D) LinkedIn
TEfadl 1 e U IUART fasan ST g

(A) el & fore die T (B) IS &I TR

(C) OF gRI URAISH UEgfd (D) IwRIad it

Presentations are widely used as :

(A) Note outlines for teachers (B) Communication of planning

(C) Project presentation by students (D) All of the above

9 & 9 ®F 11 3 Id T9H 872

(A) Al (B) Z249 (C) 71A (D) M54
Which of the following is invalid cell address?

(A) AT (B) Z249 (C) 71A (D) M54
Brsfic # ugd A $1 g gl

(A) A (B) A0 (C) A1 (D) 1A
Address of the first cell in the spreadsheet is :

(A A (B) A0 (C) A1 (D) 1A
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90. 3MICIET AT &b 3id H TETfeld U I SIS 7Y TRE &b 1P Bl CRSIGI

(A)  THBRH (B) SlfpwH (C) T (D) RER
A block of text automatically added to the end of outgoing email is called
(A) Encryption (B) Decryption (C) Draft (D) Signature
91. YR BiSWMe H, Id & Al & el S gl
(A) DlaH (B) dhgd (C) ThaRH (D) 3
In a computer spreadsheet, block of cells is called.
(A) Columns (B) Workbook (C) Function (D) Range
92. foHdt off SMmEdHd W AR IR W I % U Biel Slay Uefid gidr § o
3T P g fdavur <ar 3
(A) gEER (B) gemsiad (C) gafed (D) gafde
Placing the mouse cursor over any icon displays a small box called which gives

a brief explanation of the icon.
(A) Toolbar (B) Toolbox (C) Tooltip (D) Toolkit

93. U H I o= I fpar 3y B fham g1 a1 WSS 3Hieoiac bl TS T8l HR Jhd o2

(A) bl T (B) TRWfI®

(C) WSS W HAT (D) TSiexM f&dite dxT

Which of the following action you can’t assign to an action button or slide object?
(A)  Runa Macro (B) Hyperlink

(C) Play a sound (D) Delete Presentation

94. MUl USH & doid 6 | fohaH foe gid 872
(A) 64 (B) 128 (C) 32 (D) 256
Version 6 of IP Address has how many bits?
(A) 64 (B) 128 (C) 32 (D) 256
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95.

96.

97.

98.

YR Y3 gRT YA RN T BT foh JiaT 71 82
(A) TASTEE (B) TGl (C) dTasua (D) SRt

Who has been entrusted with the task of railway reservations by Indian Railways?

(A) NIC (B) NAC (C) BHEL (D) IRCTC

3Fg 3R g FE T Q5w widee Folt & ATy fobar S Tevar 872

(A) ctrl+zctrl+y (B) ctrl+y,ctrl+z

(C) ctrl+alt+zctrl +alt+y (D) ctrl+alt+y,ctrl+alt+2z
Undo and redo can be done with which of the following shortcut keys?
(A) ctrl+zctrl+y (B) ctrl+y,ctrl +z

(C) ctrl+alt+zctrl+alt+y (D) ctrl+alt+y,ctrl+alt+z

fFufafad 7 T o9 91 S Wsiie Ad § T3y 8! [5aT S bl § ?
(A) I (B) <RC () o (D) THU3

Which of the following data cannot be typed into a spreadsheet cell?

(A) Formulae (B) Text (C) Numbers (D) mp3
el wWise 4 el i &t CISSIGIE
(A) AT (B) WS (C) wIgEYH (D) g

Dotted areas in empty slide are called

(A) Template (B) Placard (C) Placeholders (D) Themes
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99. oIl Yidl & el & A9 T fog qob-itch o1 U fobar Sirar ur?

(A) deTHeTE TS (B) giforey
(C) R g (D) e wibe
Which of the following technology was used in third generation computers?
(A) VLS technique (B) Transistors
(C) Vacuum Tubes (D) Integrated circuits
100. & fo Wisxfie &1 IudT =8 fasar S 3|
(A) foaxfig iR T TxaTal &1 Ueed
(B) BTeT Ruld §mT
(C) STl fazaym
(D) USICRM ST

Spreadsheet is NOT used for :

(A) Managing financial & accounting docs
(B) Creating data report

(C) Data Analysis

(D) Creating presentations

-000-
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